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Standard Practice for Selecting
Proportions for Normal,
Heavyweight, and Mass Concrete

SBLaal Lo ($oind Ul Gl bl s dgSs0dl
loolsiicwd sloall o) Gias 585 155385 5945 ditsshall 0 ol =

oo ACI211.1-91 diy b (S5 dx sl Ol 3

oaslas slacdl sh5 3 356 Brdbleo 9 dsihin Olghs dstas

A8 O3 Blusss ZLod Lgolsinio] pigws il slgoll

@ American Concrete Institute® .&.yt: &49-4:‘,-59 &.gl.u M

Reported by AClI Committee 211




ACI 211.1-91 4553 pa¥1 4yl 44y jlalt

ACI 211.1-914S) so3l dewlill ddy sl Con> dilusyiell Aalil gronas Cilghs ™

QTJLUD

23

SS90

Qg

Pl

(
AL AL
» » o]
S9ixo S9x0 .
plsI Al S
ecll O] |
\_

4 )
sl clo 5185 sHlasl )
- RCRC 1]
: PPPPY ISYEN ]| ooliall N
\ cloJI SS90 a3l -
£ 9
" Jokgll
Crioww | clgall pls,U
-/




ACI 211.1-91 4l il 4,5, 531 43,

Jobgll dasd 3595 -

J3l i Gygsu ell3 amyg .clidl Ooledbaio a5 Johgll (uad¥l sl g G331 axl dagd spams oy
segregation ?.&5{.2]'

eeidly obisl Joaxdl (o Josll cuwliall Jobgll sLisl oy élﬁu}ﬂl Eeoaill Q Jsbgll slade 3335 pac > Q =
b Bl gl (5531 ardlusl plsiniusl V> Js posll dalae § jliall Jlosiool golol e Jssall dioll
c oV ladoy dicwadl euddl 8305 GSandl

(o ) Lo sagl sLiidl) & g3
8-2 3 ) g oy paall daliall pew)
&2 | sl JSUeh o paa s dalud) s el
10-2 Aalidl ) jaall 5 Sl
10-2 3ac Y|
&2 k)l a1y Sl
52 Al Al A




ACI 211.1-91 Ll 4,55 51 43,

alSl) a8l uldadl Las] -

b5« JWlys J31 sulie 93 plSHI alazicwl o JBI SLELS I3 Gluss gty a8l (uaddl Guliall plasiwl ol
Al e soizeg balall ol Eaes ¢ Blussidl (o o> Bang JSI blall Go S5l dgaS Lz 1SY1 2SI 13 Gyl
aiowwdl o 9 H9So

p3ixicasall a3 Guad¥l andl 5liisl 3am5 I 3 xaleasdd] 333> Ga9 S Lasall ol ol slasl ol

: Al GaaB¥l sl oliy 31 o e ACI 2111 ais

¢ A lex s Bud Yl a2l Guad v
(Slabs ) dxduall SN Gac Ed5 v
xebeadll 333> a3 of (635801 prabuasill 338> g Emadloll Sllaal) Yl sl 0 % v




ACI 211.1-91 4l il 4,5, 531 43,

dbl=Jl J clog)l Sgixog LUl clo 43445 -V
309 (390t clon e dgladl Elusyily dysliedl Blusil) Bl glgs¥ Dyplaall bl clo duaS wads ply ®
:J Josl G Jobgll slsins alSsl) unddl puliall oud Jols

Water kg /m’ of concrete ( “a / axS slall 40a5)
max size aggregate
Slump(mm) 9.5 12.5 19 25 375 50 75 150
25-50 207 199 190 179 166 154 130 113
75-100 228 | 216 | 205 193 181 169 145 124
150-175 243 | 228 | 216 | 202 190 178 160 -
air cont % 3 2.5 2 1.5 1 ) 3 2
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Volume of coarse aggregate per unit of volume
Nominal max size of | Fineness ggiﬁﬁliﬁ‘ﬁiiaggregate
aggregate (mm) >4 26 78 3
9 050 | 048 | 046 | 044
12.5 059 | 0.75 | 0.55 | 0.53
19 066 | 0.64 | 0.62 | 0.60
25 0.71 | 0.69 | 0.67 | 0.65
37.5 075 | 0.73 | 0.71 | 0.69
50 078 | 0.76 | 0.74 | 0.72
75 082 | 0.80 | 0.78 | 0.76
150 087 | 0.85 | 0.83 | 0.81
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2190 2285 10 1
2235 2315 12.5 2
2280 2355 20 3
2315 2375 25 4
2355 2420 40 5
2375 2445 50 6
2400 2465 70 7
2435 2506 150 8
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Cement weight Sand weight Gravel weight Water weight

= 1000 Liters
Cement SG Sand SG Gravel SG Water SG

Absolute Volume =

Cement weight Gravel weight Water weight
Cement SG Gravel SG Water SG

Sand volume =1 — [ + Air volume]
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minimum required average strength without suffcient historical

‘cr=Ffc+6.9 MPa when f "¢ <20.7

fer=f"c+83 MPa when 34.5 <f ¢ >20.7

cr=1.1fc+48MPa | when f '¢c>34.5
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Water kg /m’ of concrete (“a / p2S slall 4.5)
max size aggregate
Slump(mm) 9.5 12.5 25 37.5 50 75 150
25-50 : 190 179 166 154 130 113
75-100 228 216 205 193 181 169 145 124
150-175 243 228 246 202 190 178 160 -
aircont% | 3 | 25 15 | 1 5 | 3 2
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